02 01 20

(G

2,089 2,089 | o | o | 0 0
R1 R4 R6
2km
2Kn 1 2
2km
2Kn 1 2
170 138 81.1
57 81
40%
0 40
2km
2km 1 2




R02 |R03 [R04 [ROS5 [RO6

A12-001 A=28.6ha [ I B A B | 374
A12-002 A=44 3ha [ I B A B | 57
A12-003 138 [ B BN BN B 194
A12-004 [ I 42| —
A12-005 [ I 667 (1.1
A12-006 [ B BN AN B ] 406




R02 |R03 [R04 [ROS5 [RO6

A12-007 LI B B 243
A12-008 [ B BN B B 106
N 2,089 |

2,089|




R02 RO3 RO4
@) 415 72 6

) 0 0 0

(c=a+h) 415 72 6
(@ 0 354 56

e) 61 196 57

() 354 230 5

0 213 5

(h = c+d-e-f) 0 0 0
(i = (g+h)/(c+d)) 0 50 8.06
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